R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, FL-15213.16

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010Florida Building Code
(FBC) structural requirements excluding the "High Velocity Humicane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment o
base material shall be beyond wall dressing or stucco.

3.  When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

68.00" MAX. OVERALL

FRAME WIDTH

37.50" MAX.

FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

/,,
155" MAX. Ttng "t\\
FRAME WIDTH

\

n
[0)}
n
.M
oM
z
< R
)
N .
E oo
zZ 9q
. L Ep
1 4 0o
S 278
DS )
\ Z3owo
w om®
&\“ ON;):
v T 052
EE Zm
] [0)] o) [1]
a £0O J . €
EOQ- =09
o MM =2 & L
& boi
2y
0
o C
E 6%
3 U .
g cul
o o

FBPE C.A. No. 9813

, DESIGN ‘%W

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATION
PRESSURES & GENERAL NOTES

PRODUCT:

K
BY

1 [04/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<t
()
S
=z
2

OATE: 02/16/1

INSWING

68.00" x 82.00"

21.00" x 63.00"

7.00" x 63.00"

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures, & general nofes

2 Door panel details

3 Sidelite panel details

4 Horizontal cross sections

5 Vertical cross sections

6 Vertical cross sections

7 Buck and frame anchoring - 2X buck masonry construction

8 Frame anchoring - 1X buck masonry construction

9 Bill of materials, glazing detail & components

OUTSWING

68.00" x 80.50"

21.00" x 63.00"

7.00" x 63.00"

Gli

+48.0

-50.0

+50.0

-50.0

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.16

SHEET 1

oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 2.16

INTERIOR (a1)

//

/4
//

/4

36.00" MAX.
DOOR —
PANEL WIDTH

21.00" MAX.

D.L.O. WIDTH

o
I
O
£ =
Z O
Z o
£ 5 X
& 9 ©
80
< Z ©
< =
2 3
QS /
o~ O 7
S ///
/
>

. DOOR PANEL

(10
\2/

43

o

~—1.59" —]

TOP RAIL
Cellular PVC

|
L

1.75" —4

—{ 097" |=—

1.19"

HINGE & LATCH STILE

Cellular PVC

47

EXTERIOR

@ HORIZONTAL CROSS SECTION
2

=098 ~—1.59" —] )
: ¢ —— |
5 . e —
2 > — 3
f - ——

LATCH & HINGE STILE . BOTTOM RAIL * 44 REINFORCEMENT WOOD
Wood reinforcement Cellular PVC Forlock

GLAZING COMPOUND
0.5" GLASS 1" MIN.
BITE GLASS THK.

1/8" TEMPERED

/ GLASS

| .—AIR SPACE
s OPTIONAL
\DECORATIVE INSERT
f \\v AIR SPACE

1/8" TEMPERED

GLASS

GLAIZING SPACER
#8x1-1/2" PFH

LIP LITE ODL/WESTERN REFLECTIONS HP

//

GLAZING DETAIL

G1

L)
\\\\\\
\\\ Iy ELLLL T TSN
S 2
iSy 8 "
= X: S b4
zoig g5
(12202 2 £ ¢a
’/W‘.'t g 'g % 2
7, ‘e h—
//,/ .."-o..--".;b \\\\ 5' g g g
‘, KPS 255
‘1 W om -z
N
s N8 6Q 25560
- Nt
: gu,
c
o FTIIS
| 3 2ui
o 2
o =
=28 &
12 R
EQ5 W
55 NEE
x| W
W9 o«
E0|2 S
= el 8
\\ 3 S
A\ S &
INTERIOR EXTERIOR |& <
\\
A\ x|>
O
i
o
o
N v}
||z
o (@]
H ;s
Ll 2
@ il
=
@ . W
S
o
D
2
N\ L
N
45 go
-8
oaTE: 02/16,/12
SCALE:  N.T.S.
/"2 VERTICAL CROSS SECTION .
2 . .
\—/ CHK. BY: LFS
DRAWING NO.:
FL—15213.16
SHEET _2 oF _9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 3.16

13.75" MAX.
- SIDELITE
7.00" MAX. PANEL WIDTH
D.L.O. WIDTH N
/
///
/
—
) o
55
o T
Z o
E = = / m
o Vi \3/
(A < /
s = /
¥ b
< Q
> g
:-.q
o~
i /
///
Vi

@ SIDELITE PANEL

INTERIOR

//
/4

//
/4

51

EXTERIOR

55
/"1 \ HORIZONTAL CROSS SECTION

3/

—— 098"
~— 1.59"
Pt ]
SIDELITE TOP & BOTTOM RAIL 23 ) HINGE & LATCH STILE 47\ LATCH & HINGE STILE
Cellular PVC Sidelite stile Sidelite stile
Cellular PVC Wood reinforcement
GLAZING COMPOUND
0.5" GLASS 1" MIN.
BITE GLASS THK.
1/8" TEMPERED
/ GLASS
. ___—AIR SPACE
d
\ s
=~ S OPTIONAL

\DECORATIVE INSERT
\ AIR SPACE
1/8" TEMPERED

GLASS
GLAZING SPACER

#8x1-1/2" PFH
LIP LITE ODL/WESTERN REFLECTIONS HP

G1 L CLAZING DETAIL

?

Wiy,

.SCH

\
<

0

s&

\\\\

**\JCEN

°
o
)

A%

\
)
N)

EXTERIOR

57
//
7
INTERIOR
//
17

@/

7“2\ VERTICAL CROSS SECTION

\3/

P.0. Box 230, Valrico, FL 33595
813.659.9197

v
W BUILDING CONSULTANTS, INC.
Phone No.:
FBPE C.A. No. 9813

Documents Prepared By:<,

Lyndon F. Schmidt
P.E. No. 43409

R

PLASTPRO INC
FIBERGLASS DOOR

PART OR ASSEMBLY:
SIDELITE PANEL DETAILS

PRODUCT:

K
BY

REVISIONS

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

NO,| DATE

1

oATE:  9/5/08

SCALE:  N.T.S.

DWG. BY: DT

CHK. BY: LFS

DRAWING NO.:
FL—15213.16

SHEET 3 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 4.16

1-1/4" MIN.
EMB. (TYP.)

/§

0.15"

=— C'SINK

(TYP.)

/"1 "\ HORIZONTAL CROSS SECTION

\4/

NOTE 1

2

—

A\

A\

50

Outswing shown - inswing
also approved

40

W

Foe

m HORIZONTAL CROSS SECTION

W Outswing configuration

INTERIOR

EXTERIOR

65363 6 N8/
1-1/4" MIN.
q q INTERIOR EMB. (TYP) gl
SEE /v
INTERIOR / | / / (50) M)vorer | 7 .
4// 4// 4// v
AN / | s %
NN A e / p
§ .
2 o/ 3\ .
4 IEF X < Q >
EXTERIOR > 4" i I -
=LA ; ) EXTERIOR b
Va VA Vi g ‘
’ / / é @ vV
q 5 q ) é 3‘9 |
NOTE:

1

Z

. Sidelite panel secured to the sidelite
frame with (4) of item #M located
10", 30.5", 51" and 71.5" from top of
each jamb and (2) of item #Min
the head, 3" from each end

SEE
@ NOTE 1

8 =

7

OJ

N

rel

m HORIZONTAL CROSS SECTION

W Outswing configuration

(4

/~6 \ HORIZONTAL CROSS SECTION

(32
\&/

C@ _

\5/

SEE
NOTE 1

w Shown w/1X sub-buck

AW )
o ‘h,
O, Leeeeser,, &/’/
SA L (V)
Py K .¢/’ N
S8 “HZ B
-~ . ()] '.»: 2]
=5id 2« BEZEZ..
=@ 3 Qi ZZ,; b
=% 2 L0350 55
AL SRS EEgR
%2, P FOS F58%
7L I L Q“'\\ 5>50
2 PR 250
I’I[ W 58w
T |\\% 3R
g
NIER L
N[t Ea 52¢
N'[§ 6 2g68
5 O
N[ Zo£ED
8w,
c (o]
]
E 62 §
3 U .
g cul
o o
wn
=
Q
3
oz
Sl &
o
ZQ %)
7p]
Q0N .. O
x> &
& S|gl ©
h o3| |
5D:u_| I
Ll 1 =
D.Ll)(n =
e == 0
o
S ol &
(o)
o E T
o <C
o o
5o

40

(8)
D

0

SEE
NOTE 1

=

EXTERIOR

A\
A\

~

LN

e e

/“4 "\ HORIZONTAL CROSS SECTION

o ®

m HORIZONTAL CROSS SECTION

W Inswing configuration w Inswing configuration

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

=
<
a
o
=
2

oATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.16

sHEET 4 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIaling "Mm'yd 2102 @

€186 'ON 'V'O 3dgd SNOISIASY

L616°6S9°CL8 'ON @uoyd A8 31vd [ON]| e =
S6SEE T4 ‘O9UIDA ‘0EZ Xo8 ‘O'd \Sv SNODES 59059 Wliiah ¥ | o84 (v102) a3 HIG ol vadn| si/zz/v0l L ||| X|2] 5 °]
"ONI ‘SINVLINSNOO ONIaling \&“ *ATGN3SSY 90 Lavd ) Bt B el P I
¥00d SSvV1993a3 g g © 57

60¥CH "ON ‘3'd "ONI 04d1SY1d S| |Elgle T
IPIWYDS "4 UOPUAT . al9ls|clED|E
%, 0\\\6 peupdeud sjuswinoog -19Na0dd W m 215 m M

t\kN\

40)
EXTERIOR

oz
('dAL) ‘aw3 @)
NIW .7/ 1-1 H -
= )
=
(8]
Ly
“ c
s
K=
~
S SE
g
o <3
o =l
= = x .DIAW
zl 9 < SH
Q =
/ Ay ) e
| O
Q3
S r
o=
Sz
" C
=
(2
>S5
P

("dAL) "awW3
"NIW /-1

("dAL) "gwW3
NIW .F/1-1

4\\/
("dAL) e e
——INIS.D )
S0 @ T

R

” oz (274
o = ®) =
e 9 o o
; — = — r
> m Kmv m Kn
'z Llle)
|2 Qs
& O
ol o3
mwd mwrm
” L.mm N =8
D o258 5|12
=0 =S
h(5 9 e 55
S05 - S0
v oz a .
@ & ) G L (o)
L L
— — :
SN
("dAL) "an3
"NIW ./ 1-1

9T'S ‘BMP'8T-ZT €TZST-Td\uaninD\sbuimelq - D\ETZST-14\s|erouddy 1onpoid epLOJ\LNINYINYId du] ‘0ldiseld\sIuID\Y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 6.16

SEE
NOTE 1

& U ®

1/
EXTERIOR

INTERIOR

m VERTICAL CROSS SECTION

w Outswing shown - inswing

also approved

EXTERIOR INTERIOR
//
21
&)
£
2 N-—@)
-

7“3\ VERTICAL CROSS SECTION

w Outswing shown - inswing

also approved

9 v a
Qe . Al Y a <7 - -
@ T o - e
R o a z T v v
v Q
- e < : .. - -
D A : N a |
Zao
33
-
~ o0
T =
—
i [ J :::)

NOTE:

1. Sidelite panel secured to the sidelite
frame with (4) of item #M located
10", 30.5", 51" and 71.5" from top of
each jamb and (2) of item #Min
the head, 3" from each end

< 4 2
9 4 . .

a G5 ”

‘q . 5 ; 4

. : g -
Zao
> sE
J
T =
— L

\@EEC')ETE ]

/4
EXTERIOR INTERIOR
/" 2"\ VERTICAL CROSS SECTION
w Shown w/1X sub-buck
EXTERIOR INTERIOR

‘
7

TV,

RO 10
%z 2
-'»’ n
. - M
g: <=2z
0:Z2= .%o
03P 55
OT ZLan
o \\<.E|D‘_'

< ,0 = =

4 S J00D
O :)>r,50!

W 255

\ om  z

5« ON'g-
T o xz<

v 2 Zo O

£ Ep £S04

- o c L

859 560

E(f)g 50cnm
+ Dol

2 u

c o

o c

£ 6% §

50 .

g su

o 2o

%)
Z
o
o =
s8 2
=8 o
Z3
)
owl . 9
& 03
oSl &
— m
592 ©
S| o
o @|» (<(_)

. o< =

3] x| o

B o s

o &

o <

o o

Sio
n
=z
)
2}
>
(]
o

m VERTICAL CROSS SECTION

W Inswing configuration

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

=
<
a
o
Z
2

oATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL—15213.16

SHEET 6 oF 9

© 2012 R.W. BUILDING CONSULTANTS ING.




¢ 3
& .9
4" E{) % 1]
1 8 e
— 4 — — T
‘>-‘_‘_ __.dv;v . ‘dv»,;" 3 i " ~ >
SR A | T / : H 2 D
LI L Iy H|— T [ [ 2 58¢%
= |‘| I ? " iy _\\ - ? ' 1. K R\ 2509
< = o " o om z
Ll ||| =~ =i= EEE; 4l . @ - oo 0 s
AN | ey ~O ) \‘ v O o g =z 3
jA Il \ 1 & J5Es Eoo,
- =l—T il 12 6% 245§
MASONRY TYP. HEAD I 5 || MASONRY l 5 NN RERERH:
OPENING & JAMBS [ OPENING = |- e READ & = . g
) I JAMBS g < g 52 §
— | - - Z i
— l MULLION I B3 FRAME " - 35- =4 -+ & 50 @
N I\ SHOWNFOR Al < Nz 3z _ —
< Z O NS
REFERENCE If S ] L . S
Il 20 5 2X BUCK~ || — - ob
ONLY ||| > = q in =3
— - 73 ~ * 3 5 EE
= I = s 28 &2
S [l B TYP. @SILL ™ ~ol .. 28
e I — 2415 Ly
—i . . =l- |- 1 5312 32
I M If | L l ! | So|ol 3
» Ty 5% 8 T e . - Q—@ 2 <
PRI 5 \ -
\ = = Ol xXx
3 = 23
g Z =
BUCK ANCHORING HINGE JAMB FRAME ANCHORING STRIKE JAMB S|t
Masonry 2X buck construction
O
2
=
S
S
CONCRETE ANCHOR NOTES: 8 %
1. Concrete anchor locations at the corners may be adjusted to maintain the min. | >
edge distance to mortar joints. @ \ | &
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to \ R
maintain the min. edge distance to mortar joints, additional concrete anchors 5 ]
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. §
3. Concrefe anchor table: || )
.......... MIN CLEARANCE M’NCLEARANCE 10 E;g\ “-f_') s
- A=) NE
N <C
NE
ITw N ®)
TAPCON® 1/4 1-1/4 2 4 -2
Eco [ . - 1.. r \ oE: 02/16/12
ULTRACON / -1/ scAlE:  N.T.S.
ITwW . R R R LATCH & DEADBOLT DETAIL HINGE DETAIL DWG. BY: JK
rapcon® | 3/16 1-174 = 1-1/ ok ov:  LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—15213.16

wood screws to prevent the splitting of wood.

SHEET /7 oF 9

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 7.16

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 8.16

5 |
B
.
!
e
sy
HINGE JAMB
CONCRETE ANCHOR NOTES:

E 4 o L. w m < 6" \<_ 3"
1 - ; - .:q 4. v";a‘»q‘v» Ad. * 4/ —— ’<—3"
SRR | — | | I
|| T~_||I” = — || T
7V\ ~  TYP.HEAD & [~
MASONRY JAMBS
OPENING
. |
iz "
20 <=
FRAME / - ~3 - =0
N Z
O
TYP. @ l
X BU CK\ MULLIONS
M — —
I TYP. @ SILL
| T l | (|
FRAME ANCHORING

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

| MIN. CLEARANCE
ADJACENT

1apcon® | V4 8
ELCO " " L] W
uitRacon®| 14 1-144 ! 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood.

Masonry 1X buck construction

41.25"

B =
55— |

STRIKE JAMB

i
/‘/}{:9\
'

o~

HINGE DETAIL

\ 27
A\
LATCH & DEADBOLT DETAIL

n
0]
o}
D)
oM
z
e
<'c%,"_’
'_—
4 1000
D>l’im
D Z2cSns
\ om”z
b O N -
CD_H °<-
v T ngd
Ef, Zd,
a £O 5 .cuw
Q% 502G
L ¢ moow
2
(o]
o C
E 6% §
3 U .
8 su
o 2o
x
(&)
S=
o o2
=
O'O <O
=8 T2
o I -
o wn =
x| &2
Q_i.J OO
| — [an)] T o
nols &
SEKLLI >
wjlon| Zi
o my <=
T
2 5 I
o
e ¥
a P
Slo
8
L
-
3
o
N |n
||z
S
5 v
gl @
%
o
3
Q
o
o)
mn
w
NE
RS
oS
O O
—lo
z
oate: 02/16/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.16

SHEET 8 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.12-18.dwg, 9.16

BILL OF MATERIALS

ITEM| DESCRIPTION MATERIAL
A | 1XBUCK SG >= 0.55 WOOD
B_| 2X BUCK SG >=0.55 WOOD
C_|1/4"MAX. SHIM SPACE -
D_|1/4"X 2-3/4"PFH ELCO OR ITW CONCRETE SCREW STEEL
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_|1/4"X2-3/4" PFH TW CONCRETE SCREW STEEL
|| 1/4"X 2-1/4" PFH TW CONCRETE SCREW STEEL
J_ | 1/4"X 3-3/4" PFH TW CONCRETE SCREW STEEL
K_| #10 X 2" PFH WOOD SCREW STEEL
L | #8X2-1/2"PFH WOOD SCREW STEEL
M | #8 X 2 PFH WOOD SCREW STEEL
7 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM
9 | 4"X 4 BUTT HINGE STEEL
10 | #9 X 1" PFH WOOD SCREW STEEL
11| #9 X 3/4"PFH WOOD SCREW STEEL
13_| #8 X 1-1/2" PFH WOOD SCREW STEEL
17| KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18_| KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
21 | POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29| SIDELITE SPACER PVC
30 | INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
32_| VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. PVC
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8" X 3/8" WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 | DOOR SKIN [MIN. 0.075" THICK] FIBERGLASS
42 | TOP RALL CELLULAR/PVC
43| LATCH & HINGE STILE CELLULAR/PVC
44| RENFORCEMENT WOOD FOR LOCKS (20" LONG) WOOD
45 | BOTIOM RAL CELLULAR/PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47_| CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
49 | GLAZING COMPOUND SILICONE
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS SILICONE
51 | SIDELITE TOP & BOTTOM RAIL BY NAN YA CELLULAR/PVC
55 | LIP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
56 | GLAZING SPACER ALUM.
57 | #8x1-1/2" PFH LITE FRAME SCREW STEEL

| 456" R
/
TN
? 2.44" ! 213" —
‘ HEAD & SIDE
Jamb
5.63"

33

4.5¢"

C=a—

ADJUSTABLE INSWING THRESHOLD

L].BB»

j

ADJUSTABLE INSWING THRESHOLD

34

I‘ 252"

4.48" -

M

—

f

@ OUTSWING BUMP THRESHOLD

1.25"

N

1.25"

4.56"

0.75"

! 2.44' !

HEAD & SIDE
Poly fiber jamb

10
)
o)
)
%n
£ N
Lo
[7) I
E oo
Z 0
K <t
O = =
. Do
o ]
3\ Q.2
\ omn®
3 ONS
v B © %z
[} z
5§ Eoa F0o
a £0 a . £
o O< -—00
a N 2 - c
& Mmoo
2
0
o c
E 6%
570 .
g £y
a 2ad

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR

PRODUCT:

, GLAZING '%W

DETAIL & COMPONENTS

PART OR ASSEMBLY:

BILL OF MATERIALS

K
BY

1 |04/22/15 [UPDATE TO 5TH ED. (2014) FBC

REVISIONS

oATE: 02/16/1

L
—
<
a
)
=z
2

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:

FL—-15213.16

SHEET 9 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



